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(GPA (RUfR Tl T H91E) (2 & & EFili = 327 )
GPA (B #EETlI T 91E) &(F. A=4,B=3,C=2.D=1&L. COHFICTHBI LD EMUZEFRL=E
DERFLTHREMTRLERT S,

FR4 ERWME -BHFEH FE 1 S2HH 48 A
BAED 7
FEIEDHIE (1.0~24|24 ~26/2.6~2.8|28~3.0[3.0 ~32(32~34(3.4 ~3.6/3.6~38|3.8~4.0
A 0 1 0 0 0 2 3 5 37
THI1/4IZERET DA 12 A
THI1/4I23% &3 HIEEOHUE 3894 HLT
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BAED 7
FEZEDHIE (1.0~24|24 ~26/2.6~2.8|2.8~3.0[3.0 ~32(32~34(3.4 ~3.6/3.6~38|3.8~4.0
A 7 0 5 5 8 13 4 5 8
THI1/4IZERET DA 13 A
THI1/4I23% 5T HIEEOHIE 2895 MELT
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BAED 7
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=k SE EXER-ERRTEEH | 25 1 PHEHK 9 A
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A% 0 0 0 0 0 0 0 1 8
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NEETLTHREBEATRLEET S,

FHA FI4RES KR REH =k 1 PHEH 18 A
BAED 7R
FEIEDHIE |1.0~24(24 ~26(26~2.8|28~3.0(3.0 ~3.2/3.2~3.4|3.4 ~3.6{3.6~3.8[38~40
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BAED 7R
FEIEDHIE |1.0~24(24 ~26(26~2.8|28~3.0(3.0 ~3.2/3.2~3.4|3.4 ~3.6{3.6~3.8[38~40
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THRI1/4IZERETHAH 7 A
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BAED 7R
FEEEDHIE |1.0~24(24 ~26(26~2.8|28~3.0[3.0 ~3.2/3.2~3.4|3.4 ~3.6/3.6~3.8[3.8~40
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BAED 7R
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BAED 7R
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THI1/4123E T HAH 2 A
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